29(Se)/1 UG-II/Geog.-11(G)/21
2021

GEOGRAPHY

[GENERAL]
Paper : 11

Full Marks : 100 Time : 3 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any six questions: 1x6=6
- =H b ereia Teq wie s
a)  What are 'tribal economies'?
Toreife wefaifowfr F Fie
b)  What is 'alluvial cone'?
“ofeTe *F FICF A0 2
c¢) Locate two flood-prone regions in West Bengal.
sAfepstacs wfo e -e7et Sizee fofze 39
d) What is 'dependency ratio'?
TS SIS’ SFICF e 2

[Turn over]

e)  What is 'adult literacy'?
F RS BICP T 2
f)  What is 'shifting cultivation'?
GRS PR PP AT 2
g)  Write full form of 'DVC'.
'DVC'-a3 71 16 @12
h)  Define 'region'.
T R W€ |
2.  Answer any eleven questions: 2x11=22

@@ @@l amiT T nie s

a)

b)

d)
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What is 'economically active population'?
GTeTOIE AG SR FIE AT 2

Give two examples of quaternary sectors of

economy.

S an

(e b WEH FIEH 7fb Tnizd v |

Differentiate between traditional and modern

economies.
A29re R Sy SILNfeT S 2N @14 |
Name two plant species of Sundarban region.

AR ST G0 STen derfod s (=712 |
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g)

h)

i)

k)

D
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What is 'gully erosion'?

‘Gully 3" FICF o1 2

Name two industries of Hooghly industrial belt.
2siell FrsTi=eceTa vfb fitem i (14|

What is 'declining region'?

TR SI%EET FI(P e 2

What is 'intensive subsistence farming'?

Giiterrefefes @9t FR I =12
Write two causes of deforestation in India.
SIS g QPR 1 S 519 |

What is 'birth rate'?

T FICE A 2

What is 'mixed farming'?

‘o R I AT 2

Mention two causes of poverty.
vifimeoR 7{6 e @19 |

Locate 'Punjab-Haryana wheat belt'.
“olleI-2 I o1 TR SR (A 2

Write two characteristics of small-scale

industries.

=y M0 7o @R @14
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Answer any seven questions: 6x7=42

@I Ao 2o Taq e e

a)

d)

g)
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Write a short note on paper industry in India.
TRICST Flo1e WE @0 7<Hre TiFt (14 |
What are the measures of soil conservation?

St el SO A e

Write a short note on green revolution in Punjab-

Haryana wheat belt.

AGR-ZRRI 1% TR 7@ 217 770 930 1 e
Ol (=14 |

Write about the favourable conditions for the

development of iron and steel industry.

ET2-2ie 5 5T 9ol SeFe Sl THeE
T

What are the causes of underpopulation?
T SRR el I 2

What are the advantages of adult literacy

programmes?
% ol sifsamieferm S 1 ogfu 2

Write about the importance of cottage industries

in developing countries.

Traee (reet o3 PItera warg TR0 (@14 |
[4]



h)

4.  Answer any three questions:

What are the broad physiographic regions in
India?

CIACeH 24N 2FToT Sreatale F e

Write the characteristics of planning region with

suitable examples.

sAfaaifeies SerEa Tl @1 | Tvigad wie |
10x3=30

@@ foals 2oig Ted wia g

a)

b)

d)
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What are the problems associated with tribal

population in India?

oHCe Gowifofefes T Mrpiaie F e

Write about the importance of forest

conservation in India.
SIS ] HREAHED WP AR 19 |

Write about the consequences of vagaries of

Indian monsoon.

SR IS IR S5 ole Falretesfel T @14 |

What is 'migration'? Classify migration with

suitable examples.

“sif e I A6 2 TwigedTs AAfaieEa @Riete
41
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e)
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Write about the growth of world population in

recent years.

e qeaefice #ffR<E epike Iia = @141



